
PACK P/M
1 Top Panel (1508 x 445 x 15mm) W320-48 R65231 Wood 1 K M
2 Side Panel #1 (451 x 445 x 15mm) W320-48 R65232 Wood 1 K M
3 Side Panel #2 (451 x 445 x 15mm) W320-48 R65233 Wood 1 K M
4 Middel Panel #1 (451 x 445 x 15mm) W320-48 R65234 Wood 1 K M
5 Middel Panel #2 (451 x 445 x 15mm) W320-48 R65235 Wood 1 K M
6 Adjustable Shelf (480 x 390 x 15mm) W320-48 R65236 Wood 3 K M
7 Door Panel #1 (480 x 445 x 15mm) W320-48 R65237 Wood 1 K M
8 Door Panel #2 (480 x 445 x 15mm) W320-48 R65238 Wood 1 K M
9 Bottom Panel (1508 x 445 x 15mm) W320-48 R65239 Wood 1 K M
10 Back Panel (485 x 451 x 3mm) W320-48 R65240 Wood 3 K M
11 Hinges (w/Screws) W320-48 R65241 Metal 4 G P
12 Knob (w/Screws) W320-48 R65242 Metal 2 G P
13 Door Stopper (w/Nail) W320-48 R65243 Plastic 2 G P
14 Metal Support Bar (1300 x 50 x 30mm) W320-48 R65244 Metal 1 G P
15 Metal Leg (205 x 129 x 129mm) W320-48 R65245 Metal 4 G P
16 Insert (M6 x 10mm) W320-48 R65246 Metal 12 G P
17 Shelf Pin W320-48 R65247 Metal 12 G M
18 Adjustable Leveler W320-48 R65248 Metal 4 G M
19 Nut (M6 x 15mm) W320-48 R65249 Metal 3 G M
20 Back Panel Catch (w/Screws) W320-48 R65250 Plastic + Metal 8 G M
21 Plastic Cap Cover W320-48 R65251 Plastic 3 G M

22 Tipping Restraint W320-48 R15074

Mounting Bracket (2)
4mm x 5/8in Screw (1)
4mm x 2in Screw (1)

Plastic Tie (1)

1 G P

23 Hardware Pack W320-48 R65252

Back Panel Catch (8)
Wood Dowel (8)
Cam Lock (8)

M4x16mm Screw (24)
M6.3x50mm Screw (8)

M6 Nut (3)
M6x13mm Flat Washer (3)

  M6x60mm Bolt (3)
M6x15mm Bolt (12)

M4 Allen Key (1)

1 G P

REPLACEMENT PART DESCRIPTION FORM

MRP#

MODEL #: W320-48
PRICE ¥

February 2020SIGNATURE DESIGN BY ASHLEY®

DESCRIPTION FOB $

All Rights Reserved.

USED ON: MATERIAL QTY.

Page 1 Of 2

FACTORY USE ONLY!!

PART#



Page 2 Of 2

REPLACEMENT PART DESCRIPTION FORM
MODEL #: W320-48

February 2020SIGNATURE DESIGN BY ASHLEY® All Rights Reserved.

15

2
7

6

1

8

3

4 5

12 13 16

10

11

6
9

6

10

10

17 18

14

21

23

19 20 22


